Shri Jain P G College, Bikaner

C-172

B.Com. (Part-I) Examination, 2019

. ECONOMIC ADMINISTRATION & FINANCIAL
MANAGEMENT

First Paper
(Business Economics)

Time allowed : Three hours
Maximum Marks : 100

SECTION - A (Marks : 2 x 10 =20)
Answer all ten questions (Answer limit 50 words). Each question carries 2 marks.
Qus — A (S :2x10=20)
I € T3A1 o ST AT (I HT 50 Tse) | TS I¥ 2 FH HI1R |
SECTION -B (Marks : 8 x 5=40)

Answer any five questions out of seven (Answer limit 200 words). Each question carries 08
marks.

g —-¢ (37 : 8 x 5=40)
ara § & foral aia yea1 & I ST (ST Hr 200 T18) | Tl T3 08 {6 H1 @ |
SECTION - C (Marks : 20 x 2 = 40)

Answer any two questions out of four (Answer limit 500 words). Each question carries 20

marks. .
Gvs -4 (31 : 20 x 2 = 40)

TR Y Rl &yl & I AT (ST HHAT 500 T8) | TAh W9 20 FHH1E |

SECTION - A

g — A

1. | (i) What do you mean by Dynamic Economics ? @)
| e S & 3 o a7

(i) What do you mean by Static Economics ? @)
e srefurer @ 39w TR E ?

(iii) What are maih exceptions of the law of demand ? *

TS e S e L P.T.0.
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(iv) Explain the meaning of Demand.

i T AT TE BN |
(v) Clarify the meaning of Capital Formation.
oft formion ohr vl T HRA |
(vi) What is optimum theory of population ?
S e g g 7
(vii) Define Perfect Competition.
o e Bt oo R |
(viii) Explain the meaning of imperfect competition.
gt wferiven s AR qREE |
(ix) Give the meaning of National Income.
TR 3T 6T 37 A |
(x) What is Economic Welfare ?
s HeU TR ?
SECTION-B
wE-q

What is Economic Problem ? Explain main function of Economic System.

afE TR 7 Tiftien yomreht 35 @ T A |

Describe various degrees of Elasticity of Demand giving suitable diagrams.

Write the influencing factors of capital formation.

Explain the ‘General Theory of Value™ with suitable schedule and diagram.

w;mm@mmm%mﬁaﬁm@mm

ad TV e i
(2) 71 Distinguish between Market Price and Normal Price.

@

)

@

@

@)

@

(2+6)

@®)

@®

@®

' IR T T e 3 g e |

@®

Differentiate between Real Wages and Monetary Wages and discuss the factors

affecting real wages.

®

reafires T T gt vt PR T TR TG P I e it e W |

! Explain the Modem theory of Rent and compare it with Recardian theory of Rent.

Guickd Wﬂv@m@ﬁ%wﬁm%mﬁmﬁﬁi \

SECTION-C
g -9
What do you understand by indifference curve ? Explain its characteristics.

T TH Y TN A E 7 3! R v |

Explain the returns to scale with the help of diagrams.
B 35 el P e < wEEa & T HR |

Explain the determination of price and output under discriminating monopoly.
faTees TR i Seeq Pt < e hiRe |

Critically examine the Marginal Productivity theory of Distribution.
Freor 3 EieT IeaTeaT R ) A STEn R |
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B.Com. (Part-I) Examination, 2019

ACCOUNTANCY & BUSINESS STATISTICS
First Paper

(Financial Accounting)

Time allowed : Three hours
Maximum Marks : 100

. SECTION -A (Marks : 2x 10 =20)
Answer all ten questions (Answer limit 50 words). Each question carries 2 marks.
g - 3 (3T : 2x 10 = 20)

U g8 Y1 o I AT (ITCHAET 50 W) | W& W9 02 FF H1 2 |

SECTION -B (Marks : 8 X5 =40)
Answer five questions out of seven (Answer limit 200 words). Each question carries 8
marks.

TUE -9 (37 : 8 x 5 =40)
A 3 A Rl uta wge1 % I AT (ST HHT 200 I155) | T3S T 08 AF 1R |

SECTION -C (Marks : 20 X2 = 40)
Answer any two questions out of four. (Answer limit 500 words). Each question carries 20
marks.
w|ug - | (37 : 20 X 2 = 40)

AR & A gl ) Sl & IR AR (STEHT 500 Te7) | T WY 20 HFH H R |

SECTION - A
ug — A
1.  Attempt all questions :
et @t st o1 IR G :
(i) What is going concern concept ?
o] AR YT 18 7
(i) What is Average Clause ?

g IR RO ?

C-168 1 P.T.O.
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What do you understand by pro-rata allotment of shares ?

i 5 T 9 R T AR 7

(ii)

(v) Whatis the meaning of Redemption of Preference Share 7
o S SR & A R ?
(v) Who may be declared insolvent ?
fetfer R e A EHAR 2
{vi) Whatis Short working ?
AOEE TR ?
(vii) Give four transactions which will not appear in Total Debtors Account.
@wmﬁ%mm@ﬁ%@ﬂm@ﬁﬁqﬁmm% 1
(viii) What would be the entry. if bonus shares are acquired ?
o e S 8 e R T 2 P 1 e e v st e 2
{(ix) When Branch Stock Reserve Alc. is prepared ?
a1 R T G e S S ® ?
(x) Discuss the accounting procedure of Inter-Department-transfer.
ST T 6 e faf v R |

SECTION-B
gus—-4d
2. Riva prepares accounts on 31% March each year but on 31% December, 2017 fire
destroved the greater part of his stock. Following information were collected from her
books :
fm w TE-E 51 o @ F< FW § g 31 ot 2017 N I H R H
sy T TR E T 13—?&@%%@@&3@%:

g
Stock () as on 1% April 2017 2,97,000
Purchases (F9) from 1* Aprl to 31% December, 2017 6,50,000
Wages (¥3711) from 1¥ April to 31¥ December, 2017 2,30,000
Sates (F&1) from 19 April 10 31% December 2017 11,00,000

|
Average percentage of gross profit on costis 333%. Stock to the value of X 30,000 was -

ealvaged. Policy was ¥ 2.64,000. Claim was subject to average clause.

C-188 2

-168 3

Additional information ;
(@)

o Stock in the beginning was calculated at 10% less than éost.

Plant was installed in Au
! gust and firm’s own Y
which was included in wages. m b g e e

(c) Purchases includes purchase of machinery of T 50,000.

You are required to calculate the claim for the loss of stock.
mqmmmmw%%i | w4 T W S 230,000 T e SR
% 2,64,000 i ot forerdl Shvera v Pfga an 1

e gaam :

(@) T SO T T A & 10% R R e T e

(b) T 3T § T T A maz@ﬁts,oooﬁﬁ@ﬂiz%mﬁ%mﬁ
Rl |

(© TaRTRAERFT 50,000 BRI R 1
mg'ﬁﬁzﬁ%gﬁ&mﬁaﬁa%éﬁqmmil

Discuss different types of branches and distinguish between them.
Syt SR ) TS 1 T hAg S R A |

On 1% May, 2017 Nitin purchased 200, 12% debentures of X Ltd. of 7100 each at 3’102
ex-interest. On 30% November, 2017 he sold these debentures to Gracy at T 103 cum-
interest. Brokerage at the rate of 1% on actual purchase and sale was charged by the
broker. The interest is payable on 31% March and 30" September. The books of both the
parties are closed on 31% March. Record the above transactions in the books of Nitin and
Gracy and prepare Ledger Accounts.

1w 2017 %1 B ¥ v fafie & 200 12% A 100 9 T 102 9 A == V&
= | 30 TIER 2017 S FEH 36 I AU 103 9 = § = wia %9 T | gEelt
e T e T 1 e B & I R | 9 T S g 30 e
31 W i R R msrn—ﬁgqﬁ#ﬁwam@ﬁmwé@azm% | AEEE
e vt T @R T |

What do you mean by debentures 9 Differentiate between shares and debentures.
SFOTEA 3T F1 WA & 7 3799 B0 § IR wE i |

P.T.C
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Kishan Gopal Ltd. had 20000, 12% Redeemable preference shares of ¥ 10 each, ¥ 8 ¥

paid up, the company decided to redeem these shares at a premium of 20 percent on
31 March, 2018. The company had a positive balance of ¥ 1,40,000 in statement of
Profit & Loss, ¥ 50,000 in General Reserve and ¥ 20,000 in Securities Premium
Account for redemption, 5000 equity shares of ¥ 10 each were issued at 10% premium.

The issue was fully subscribed and all money was duly received. Give necessary
Journal entries to record the above transactions.

TR -Taret fa. % T 2 10 91 20,000 12% Hea sHfitmm siw & fm w2 8 wir 3w e
a1\ FEETF 31 W, 2018 T T 37 6 20% Siftaw w e w fiok T | e F 9E
-2 T 1 e T T 1,40,000 I, T T # 2 50,000 1 e whgfe shfeem §
2 20,000 1 379 faeme @ | Wi % Rad T 10 It 5000 SR 3w 1 10% HiftEd w
St forem T | et o e g o T T T 81T | §9 SFen 3 e &g
e i ‘

From the following information, prepare Individual Accounts & General Ledger
Adjustment A/c. in the Sales Ledger as per self-balancing system :

frferfian geel & T TEE TR % SR © s i e § S @
T EAEE G gl §EY

Consumers

A B C D E

Opening Balance (Dr.) | 15,000 2,500 7,300 - -

{Opening Balance (Cr.) - - - 3,000( 7,200
| Credit Sales 58,000/ 7,200|15,200(13,300| 15,200
i;Colleciion by cheque 42,000{ 15,000, 18,000 18,000| 19,000
|Credit Sales 17.000{ 21,000] 5,000| 4,000| 12,000
EChaqu:.« dishonoured 2,000 - - - =
|Discoust 300] 200] 250 100] 100
| Returns 12000 1.500| 1,500 - | -
?Transfcrl’wm PL. | 30000 7.000| - = -
C-188 4

9, Whatdo

Rahmat owned certain mining rights. He granted a right to use ope mine to Rahul on
royalty basis. The following are the relevant particulars :

T T 57 G SRR} | 36 SR G & TR T 0§ G G & F
wigea fran | weafRia foam Frfefaa -

Year (@) 2014 | 2015 | 2016 | 2017 | 2018
Actual Royalty (%)
30,000 | 36,000 |40,000{53,000 52,000
(@i St Ih)
Minimum Rent (%)
35,000 | 40,000 45,00050,000 50,000
(e o)
The amount of short-workings of anyone year is to be set off against excess payable
within next two years.

Give journal entries in the books of Rahul.
et oft 74 ) I T B A S 3 it e it & g fop S wE
2 l@ﬁgmﬁﬁaﬁaaﬁ&ﬁﬁﬁm

SECTION-C
s -¥
you mean by accounting concepts and conventions ? Explain briefly some

important accounting concepts and conventions.

aﬁmwmaﬁmmaﬁﬂmwm% 7 @ & AEE B $T T
- P LR
P.
c-168 5
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N.M. Jaldhara commenced a voyage on 1% February, 2018 from Cochin to S. Africa
and back. On 31% March, 2018 the return voyage was still in progress. It carried 5

consignment of coffee on its outward journey and computers on its return joumey Th
. . y e
ship was insured at an annual premium of ¥ 24,000; from the following particular.
S,
draw up the Voyage Account :

T, TR | FEd 2018 HH & g bt & A % for 7w s oy | 3
WS 2018 1 TE AE W W A | AR A W AR FIE HOAA A T o

FRTUTR | FE ¥ 24,000 3 e shiferan w it o | Freafofea ot & s am
T AR I |

® ®

Port charges 5,600  Sundry Expenses 11,600

L4,
oal 30,000  Annual Depreciation 96,000

Wages i
ges 48,000  Freight (outward) 1,00,000

Stores purchased 16.800  Freight (inward) 70,000

Primage on freight 5
mage on freight 5%  Passage money (outward) 10,000

The Manager is entitled to a ¢ mmission of 5¢ rofi d al
h 1 D t earn CO:
2 er is entitled to a co M o) 7 on the P .
& ed. Stores an

March, 2018. The expenses of two portions of

may be taken as issi
5 y n as equal. Address commission is payable @ 5%
journey and 4% on return journey. Tromonnad

on hand were valued at ¥ 3,000 on 31
the voyage

TSR FEE Y ST W 5%

T HTH maaﬁﬂmamﬁzmsaﬁm@éa
000 TTAlena 4T | AT SR 9 % ey
T @ g
o1 | &l

T o

ETE T 50 AU 9 W A S 1 |

oy ¥ 4
FEen < 3

Py

T

oy Departme s i
partmental Accounts ? Discuss various proble:
ms arising
o

Departmental Accounts. fpzing

7 3 R 7 faarie w@e R w1y 6
H I B Al it
et

#12.  Sachin Company Ltd. issued a prospectus inviting applications for 8000 equity shares

of T 100 each at a premium of ¥ 20 per share, payable as ¥ 30 on application, ¥ 45
(including premium) on allotment, T 25 on first call and the balance on second and
final call.

Applications were received for 12000 shares. Allotment was made pro-rata to the
applicants for 9600 shares, the remaining applications being refused. Money over-paid
on applications was employed on account of sums due on allotment.

Kewat to whom 160 shares were allotted, failed to pay the allotment money and on his
subsequent failure to pay the first call, his shares were forfeited.

Urmila, the holder of 240 shares, failed to pay the two calls and her shares were
forfeited after the second call. Of the shares forfeited, 320 shares were sold to Amar
credited as fully paid for ¥ 90 per shares, the whole of Kewat’s shares being included.
Show Journal and Cash Book entries in the books of Sachin Company Ltd.

qﬁ:mﬁ%ﬁéﬁﬂmaﬁsméﬁamﬁ%m—ﬁﬁrﬁﬁg@uﬁwﬁﬁm
fop, < T 20 wfY 3w sftm o f AR AT | e W T 30, 3 e W hfrm
aﬁa)us.mqhq(?zs,wﬁﬁmaaﬁwhm

3TEA T 12000 379t 5 T §C | 9600 it 3 3 T 1 e TUEIA R e
wmmﬁﬁWWM|mﬁmmmmmﬁmﬁiu
Tfn 3 s R T |

¥z il 160 37 ImERa R &, e Tt Su w3 TR e A
ST T, 376 I ST T R R o | 3, S 240 STeit it v o, SR AT W
o oRET 1 e e o @, 7 3% 31 R i 3 o g o R TR 1 &
Ry 3T 320 W Y, IR TGE FWFHFTAAL go s M REE I/
B e ¥ ft 3w afdfera & | e R o geel & S S I URS
w2 & wfafdEt il |

c-168 )
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C-171

B.Com., (Part-T) Examination, 2019

— ACCOUNTANCY & BUSINESS

F

|

STATISTICS

Second Paper
(Business Statistics)

Time allowed : Three hours
Maximum Marks : 100

SECTION - A (Marks : 2 x 10 = 20)

Answer all ten questions (Answer limit 50 words).
Each question carries 02 marks.

 @ug -3 (3 : 2 x 10 = 20)
T Q@ T S Y (ST HEr 50 v | R
YT 02 IFH H ¢ |

SECTION-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit
200 words). Each question carries 08 marks.

g -9 (3i‘q'5:8x5==40)
a1 A ol ute et o ST S (S ET 200 wIsg) |
e W 08 IIFH HIE |

c-171 1 P.T.O.
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SECTION-C = (Marks:20x7-

= 40\
two questions out of four (Answer [ : i . .
5% \\;%rrc?SI;yEacz guestlon carries 20 marks. it D Bitats the me;“;ng of correlation. @
4 qgaY 1 qd1s¢
e -4 (31 : 20 x 2=4 :
mﬁﬁﬁﬁﬁawﬁ%maﬁq (ST T 500 wrez) | . (viii) If bxy = + 0.8; byx = + 0.2, then find the
T TR 20 IH HE | L value of co-efficient of correlation (r). ?)
Ife bxy =+ 0.8; byx = + 0.2 &, O TEEEY
SECTION - A T (r) 1 e 1 IR |
gus — A ’
ix) Define Index Ni .
I. () Givea definition of Statistics. Q ) DetinengesNimbers @
gifereht & aiar R | | ﬁ !
(x) What is meant by Time Series ? 2

(ii) State the meaning of Sample. Q@ et Soft & 1 SRR R 7
ferest <1 37 Fras |

(ili) State any two merits of tabulation. 2 SECTION-B
RO o foregl ) il =l sarse | ' s -9

(iv) Give the definition of median. e 2 i’rﬁf’aff’ Z :"aﬁate frequency series from 5

ollowing data :
Teeh! <hl gitaeT ST | AefiRed gist @ s soEmar @1 6 @

(v) Find out co-efficient of variation, if @ $Hfg :

N = 2 = =

ﬁmo, *FX 17;’; jﬁi Marks in Law : |10[11[10]11]11]14[12[12]10{11
N 203[:;% ’ Marks in Com. :|20|21|22{21|23(23 22121(23(24
N=20, =170,c=2.

(vi) Write down the formula of calculating ' Marks in Law : |13[10]13[12|11[1210/14/14]12
Bovi'ley’s co-efficient of skewness. ' ( Marks in Com. :|24 (23 (2423 |22|23|22/24/22|20
=13 1 T 1T i e o1 GF TS —

i c-171 3 P.T.O.
2
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Find out the missing frequency of the f0110wing
- distribution if median wages are ¥ 24 :

ﬁnaqﬁﬁmﬁmmﬁwﬁmw
IR AFFHI AT 242 :

Wages per day (%) :| 0-10 { 10-20 |20-30|30-40{40—5q

12 | 23 ? 13 | 17

No. of workers :

Calculate the value of mean, mode and median

from the following data: - ®
Frefefea wet & @ ared, yRees w@ vem
1 e T HIT -
Income between in () No. of persons
100 & 200 15
100 & 300 33
100 & 400 63
100 & 500 83
100 & 600 100 !J
Calculate the co-efficient of standard deviation : @
AR Tr=re TTieh FTd i
Marks : 0-9110-19/20-29
[No. of Students:| 12 | 15 | 40
S
C171 4

*

Explain the meaning and  significance of the
concept of correlation. 8

e~ T 1 31ef 7 e Y e Hifvg |

What do you mean by Fisher’s Ideal Index Number ?
Why it is called Ideal ? ®

TR & aredt quwiss A s T A R 2 W@
ey T FEA F ?

Fit a straight line trend by the method of least
squares to the following data : t)]

=1 i wren & =pan =t Gf g e yaft Y
Fruifa Hifa

Years Production
(tonnes)
2009 80
2010 90
2011 92
2012 83
2013 94
2014 99
2015 92 ]
C-171 5 P.T.O.
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g -d
Define Statistics. Discuss its scope and
limitations.
Fifemh it aforr AR | 58 & e whait
fRem iR
10. Calculate mean, median and mode from the
following data :
Tt it @ HTe, WeAeT STR S5 T HHT ;
Wages in ) | No. of Workers
Less than 20 5
Less than 40 12
20 - 60 29
160 and above 31
Eso -100 8
100 and above 19
120 and above 5
\\
C-171

SECTION-C

11. The heights of fathers anq sons are given in the
following table :

(20)
ﬁnmmﬁﬁﬂmagﬁﬁ‘méaﬂéé H
Height of Fathers Height of Sons
(inches) - (inches)
65 67
66 68
67 64
67 68
68 72
69 70
71 69
73 70

Find the two lines of regression and calculate the
expected height of the son when the height of the
father is 67.5 inches.

Q g e B @ R o @ fi
TR S T Hifor s fire bt e 67.5"

(inches) & |

C-171 . 7 P.T.O.
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29

Construct il

¢ Fisher’s ideal index number f, the w

ot vear from the following data :

I

CLUTE
e : '-
2014 .
Articles| Frice Total (() To tal.(t) | Qm
®) per |Expenditure| Expenditure s
unit

4 3 150 %0 —

N 100 120 | 6

¢ 2 120 180 30

D > 150 144 1

- : 160 216 I8

@y A

Scanned with CamScanner
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N y 2 G

= B.Com. (Part-I) Examination, 2019
- BUSINESS MANAGEMENT

Second Paper
(Business Law)

Time allowed : Three hours
Maximum Marks - 100

SECTION - A (Marks 2 x 10 = 20)
Answer all ten questions (Answer limit 50 words).
Each question carries 02 marks. |
GUE - H (3F 2 x 10 = 20)
AT 6 T % IR AR (SR = 50 w=e) | v

U 02 ITHHT R | v

SECTION-B  (Marks 8 x 5 = 40)

Answer any five questions out of seven. Each question
has internal choice (Answer limit 200 words). Each

question carries 08 marks. ‘
Gig - (37 8 x 5 =40)

grq | O Tl i a9 & IO ST | (STt dmr 200

) Tdeh I3 08 37 HI1 ¢ |
| SECTION - C  (Marks 20 x 2 = 40)

Answer any two questions out of four. (Answer limit

. Each question carries 20 marks:
i ¥ ug —Yq (31 20 x 2 = 40)

R 3 & Pl @ Wt F I AR (I AT 500 ) |
eI Y97 20 3ThI H1 2 | |
C-174

P.T.O.
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SECTION - A
\ 4
ha SECTION-B

L Atte —
mpt all questions, ) : - -
vt gt
. TR A Note : Attempt any five questions.
(1)  Whatj ! A
- is Counter-offer 7 I R T
“SRAE TR ? @
(i)  When can an Oﬁ;r b 2.  Distinguish betw;en agreement and contract. X))
e revoked ? EE E T AR T |
T TS &7 :
. Qugy @
(iif)  When is T R ard ¢ i
consent said to be free ? 3.  Distinguish between ‘Fraud’ and
y I T e ) AL 7 ) Misrepresentation’. ®)
iv)  What is “Gratuitous Bajl e R # ST |
P R et g @
(v) What 4 FE ? 4. Distinguish between ‘Sub-agent and Substituted
Goodi O you mean by “Upascertai Agent’. @®)
oods™ ? 7 -Jascertained T T T i FRUARIT |
ST e @ N @
(v} What is N g7 i ideration al
1S meant by “unpaid seller” ? 5. Are agreements without consideration ways(s)
“¥eq fsear g ! (03] void ?
(vil) " What do vou un:m 3“3:7% ? memmmﬁaﬁ ?
703 erstand by Pledge ?
s et & s ERIRzEE @) 6. Distinguish between condition and warranty.’ ®
viii) What is irrevocable agency ? ks A |
SEvefgvidiad 0 () i
(ix) Whatis deli & b between sale and agreement {0 sell. - ®)
3 tis d:’hvery 2 7. Distinguis € P Eﬁﬁql
geh e 7 @ g i o 5 5E
{x) ‘s ip Fi
o by e mor?- 2 g,  Explain the difference between Partnership Fu-m(s)
S HI AT & 7 ) 8 " ond Limited Liabiity PartnershiP. -
C-174 R E GRS |
b-
2 | 3 PTO.
= c-174
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SECTION - C .
wvg ~ Y
Note 1 Attempt any two questions.

| I = e b i o el

9. “An agreement enforceable by Law is a contract”

Comiment and discuss the essentials of a Valid

Contract 8+12)
“TH IEE S TSR R Ve B R, Iy

Fee 7 1 wmen AR qur A sge ¥
HTET¥aeh el oht e hifv |

10. Discuss the various methods in which contract

may be discharged. (20)
I Tt o5 foftre atient <t e St |

11.  Define Agency. How is it created and terminated ?

6+7+7)
el ) oo R | 7 R e e
& 3R e yepr e S e R 7

12, What is a “District Consumer Forum” ? Describe
the procedure adopted for the redressal of
Consumer complaints by this forum. (S +15)
oretT SuvihT ¥ o} 7 56 g Suvier R
frameon & for S1og S et wfkan 1 seoke Hifv |

C-174 ~ 4
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C-173

art-1) Examination, 2019
BUSINESS MANAGEMENT

First Paper
(Principles of Business Management)

B.Com. (P

Time allowed : Three hours
Maximum Marks - 100

SECTION-A  (Marks 2 x 10 =20)
Answer all ten questions (Answer limit 50 words).
Each question carries 02 marks.
. QU — I (316 2 x 10 = 20)
IS €8 IH1 & IW T (ST A 50 w12) | T3
T 02 3R H1R |

SECTION-B  (Marks 8 x 5=40)
Answer all five questions out of seven (Answer limit
200 words). Each question carries 08 marks.
TUg —§ (37 8 x 5 = 40)
ora § § gl gie wel % I QN (ST Hm 200
762 | Sedieh TTT 08 37ehi 1 ¢ |
SECTION-C (Marks 20 x 2 =40)
Answer any two questions out of four. (Answer limit
500 words). Each question carries 20 marks.
Qg -9 (316 20 x 2 =40)
< i 3 Pl A e % e fvr (3 EAT 500 T) |
el ST 20 31 HT 8 |

g 1 P.T.O.
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SECITON - A
QU - 3y
I Attempt all questions :
wwﬁwwa“r&q :

(1) What s Management ?
SEURTE ?

(i)  Define Profession,
W ool w1 |

(iii) Co-operation,
HEHIIr

(1v) Self-Coordination,
AT H-gH<g

(V) Hierarchial system.
TCTIHH SoTTedt

(vi) Matrix organization.
TG TS

(vii) Feedback
wfagf

(viii) Grapevine communication,
Fear gaR

{ix) What is stress ?

TERITE ?
{x}  Autocratic leadership.
P Ty
C-173 2

SECTION-B
KC LR

Note : Attempt any five questions :

™

Explain any four Features of Management.

mﬁaﬁéaﬁﬁﬂwﬁmaﬂwﬁ\

(A) Scientific management.
B) Management is an art.
(31) e ¥ |

(@) T FAE |

Distinguish Co-operation and Co-ordination.

e S e H A

Process of communication.

5.
TR SR |

6. Determinants of span of control.
- Sy Fraied T \
aches of moti‘vation.

Any four appro \

SRR R

Any eight
e TR

qualities ofa successfu\ leader.

Fag T
3

-~ 4772
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SECTION -C
@ug — | e
Note : Attempt any two questions :

fopeel] @) sl T I Y

9. What is management by change ? Why is change
resisted ? How can it (Resistance) be managed ? 2

qfterd o1 vaY 9T g ? IR T Sale F BT 7
50 (wfoier) fore yermt weifera fopam ST EhaT @ 2

10.  Write on the following topics. |
(A) Determinants of organization structure. 10
(B) Production and Human oriented motivation. 10

- = ot o fafig
(31) TTS HL=AT < Yl geeh
(&) 3IeqTeT TR °qHEd Shigd SIS

11.  Is management science or art ? Explain. 20

1 SISl fori 8 3 et 7w |

12, Write about any two of the following :

(A) Causes and management of stress. 10
(B) Types of planning. 10
(C) Styles of leadership. ‘ 10
(D) Types of communication. 10

= 4 3 fenglf 2 forat we ferfae
(31) 19 & HRU IR &y
(&) IS & TR

(@) e Qferar
(T) TER % JHhR
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C-178
B.Com, (Part-1) Examination, 2019
ECONOMIC ADMINISTRATION & FINANCIAL
MANAGEMENT
Second Paper
{(Economic Environment in India)

lime gllowed  Three howrs

Maximum Marks -~ 100

SECTION - A {(Marks 2 x 10 = 20)
fnswer all tem questions (Answer limit 80 words). Each question carries 2 marks.
o - A (37 2 x 10 = 20)
wney wm wrsl & 7w #fun (e g sp &) | WFEH U 02 FH FIR
SECTION-B (Marks 8 x 5 = 40)

Answer zoy five questions out of seven (Answer limit 200 words). Each question carries 08

r‘r-':t} .
LSBT Nt

g - o (3% 8 x 5 = 40)
= 8 = T oy wel & gen Afore | (ITCH 200 9122) TRIE 99 08 FHRFTR |

SECTION-C (Marks 20 x 2 = 40)
Answer any two questions out of four (Answer limit 500 words). Each question carries

20 marks.

gE -4 (3 20 x 2 = 40)
R B A T 2 weEl & I A | (WM 500 Y1) | Welds W9 20 IS w1 R |

SECTION-A
g - N
. (i) Whatis an Economics System ? 2
suftie 1 fHd e & 7
{11) In which method calculate poverty in India ? 2
wirea 3 wifrelt et fomw fafty @ mr s 2 7
P.T.O.
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(iii) What do you know about deficit financing ? ¢

L]
R R e F e f smwn R § 7
(iv) What are the basic objectives of Economic planning in India ? 2
I & 3 Fdiom % e Rem v d 7
(v)  What do you understand by Human Resources ? 2

A FEHE | A A R 7

(vi) Who is the father of “Green Revolution” in India ? 2
WA & B i S STAF AR 7

(vii) What do you know about imperfection of market in Indian Economy ? 2
HRET STdeaaEa § TR o gttt § S e § 7

(viii) What do you understand by Agriculture finance in Rajasthan ? 2
TR A 5l Ra G s e g 7

(ix) What do you mean Export Promotions-cum-import substitutions ? 2
a1 TR — 7T WiawdTes & 9 7 s E 7

(xj Why is the low productivity of agriculture in Rajasthan ? 2

T § FE & e saeaa w6 E 7

SECTION-B
TE-9
mic Results of Economic Reforms (Special Reference in Era of
nce 1951, 8
(e = S 9 g) & ot woml @ Heaiea iR |

fference berween Economic Development, Growth and progress. (2.68 + 2.66 + 2.66 = 8)
7 o, 7g = g sem i |
ey b0t Agro-productivity in India 7 8

wie FeT-3oEs 8 wr e amma ¢

s
i

k=

What do you know about disinvestment 7 How far the Indian Government has
suoceeded in its disinvestment policy ?

fafda & oty 7 wmwd € 7 e wewR o Rt i i el aw TwA @ 2 7

6. Explain the Recent trends of small scale and cottage industries. : 8

Y T FER Tl Y Tl gt @y |

7. Describe the state and direction of India’s Foreign Trade. , 8

s i ferealt saman i g g fom # seei@ Hifg )

8. What is Nuclear Power ? How does it differ from Thermal Power ? - 8

v ifs 7 7 AM-oit @ 98 FPA yER = R 7

SECTION-C
gg -4

9. What are the main objectives of Indian planning ? Is the symbol of a revolutionary

change created by replacing “India’s Transformational i " economic planning 77
India transformational institute commission” has given a new dimension to the
framework of India’s economic development other than the Planning Commission ? 20

R e % T | 9 € 7 @ “9Ra SRadd gRET s e ®
wferenfid < <R T U Fifaewrt 5o F TAE 2 7 W SREE §5E SR 3
i1 AR & T 768 TR nfds s SR ST e smm R E 1

10. “Indian present a paradox of poverty amongst Nonty.” Comment. 20
T TR & 419 T =51 feania suftra st @ 1 e v ool v |

11. Explain the basic and structural changes in Indian Foreign Trade. Mention the present
position of Indian Foreign Trade. 20

et Faet =meR # 1991 ¥ S TEng Td WEATS TRadHl o Seod S | 3
i 3 fareeht saman Y ad feafa e |

P.T.O.
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2. Describe under the following headings. The main features of Industrial sectots

Rajasthan.

(1) | Size

(11) Commodity structure

(iii) Regional spread

(iv) Share of industries in total S.D.P,

(v) Share of industries in total employment.

e & e & % T Tl o1 feraror et wideni < e i -
(i) IMHR

(i) g S
(i) TR e

(iv) T o1 T o TR Sttt H AT

(v) ST % T 3 Ao H SRIGH
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